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SA:
X XH -
(e

o
chel:

S - B SRI(BA) - HNRAY - BES il & pE=L HimEST
‘ OlISA== AIY 20| 10,000,000& 10,000 5,000 5,000
Mx A0l &+ 22 WUMSA 120,000 0 120,000
= 120,000 0 120,000
401 AlEHIZ2OHB| 120,000 0 120,000
= 120,000 0 120,000
01 Al&HI 120,000 0 120,000
ORD(0tE &A=& LFZZE WHBAHE AE
Ot AbARIEI 120,000,000& 120,000 0 120,000
= 120,000 0 120,000
Nl gaba=C A 11,074,000 10,574,000 500,000
Xl 5,696,000 5,696,000 0
= 159,000 0 159,000
= 5,219,000 4,878,000 341,000
Ngrat=C EHy| 2,255,000 1,755,000 500,000
401 AIEHIZ 2B 2,255,000 1,755,000 500,000
01 Al&HI 2,250,000 1,750,000 500,000
OMAEE L2l SZ0t2 2Kl EXI3At
300,000,000 300,000 0 300,000
OXNga=E 218 FHIAIY 200,000,000& 200,000 0 200,000
SHEME SIS (MR XL&=E QIASAL) 1,204,000 1,204,000 0
Xl 1,000,000 1,000,000 0
= 204,000 204,000 0
401 AlEHIZ2OHB| 1,204,000 1,204,000 0
Xl 1,000,000 1,000,000 0
= 204,000 204,000 0
01 Al&HI 1,059,000 999,000 60,000
OIS+ Kgal=E QIQTAt
1,059,000,000& 1,059,000 999,000 60,000
Xl 875,880 833,880 42,000
= 183,120 165,120 18,000
02 Zcldl 140,000 200,000 260,000
OIS+ Kgal=E QIASAF Zeltl
140,000,000& 140,000 200,000 260,000
Xl 124,120 166, 120 242,000
= 15,880 33,880 18,000
SHEMESPHL(MESTRY NTasE STALY) 1,286,000 1,286,000 0
Xl 900,000 900,000 0
= 386,000 386,000 0
401 AIEHIZ 2B 1,286,000 1,286,000 0
Xl 900,000 900,000 0
= 386,000 386,000 0
01 Al&HI 1,281,400 1,286,000 24,600
ONEZATY XYASE SHTALY
1,281,400,000& 1,281,400 1,286,000 24,600
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SN ABHETAIRA
Hu: ASCAIY
SE HIPNEIN NI (Sl &)
SA - B SA(SH) - NRAYS - BES il & p[EE" HimE==}
T 596,780 300,000 23,70
2 384,620 386,000 A1,380
03 A& CHY| 4,600 0 4,600
OLEBATY NYMAET SFALY
4,600,0002 4,600 0 4,600
7 3,220 0 3,220
2 1,380 0 1,380
CSALBY FHIAY 3,172,000 3,172,000 0
7 1,586,000 1,586,000 0
= 159,000 0 159,000
2 1,427,000 1,586,000 159,000
403 XEXISHHISXH201 & 3,172,000 3,172,000 0
7 1,586,000 1,586,000 0
= 159,000 0 159,000
2 1,427,000 1,586,000 159,000
02 27| 2 SUICHEIRH =R It A b 3,172,000 3,172,000 0
O SA42Y BHIAY 3, 172,000,002 3,172,000 3,172,000 0
7 1,586,000 1,586,000 0
= 159,000 0 159,000
2 1,427,000 1,586,000 159,000
CENETEY 2,652,332 2,041,960 610,372
SENNE 2,652,332 2,041,960 610,372
Seced 1,675,332 1,064,960 610,372
308 XHXISHHISOI & 3,472 3,100 372
07 RAISHHIZHR S 3,472 3,100 372
OUIS PBOLE St 2ldl
3,471,41284+13] 3,472 3,100 372
401 AEBIZ Y| 1,660,000 1,050,000 610,000
01 Al 1,650,460 1,042,260 608,200
OARDTHHRIAIL $HRT L A4
496,400,0002 496,400 248,200 248,200
O&% SH4TZ SXIBA 80,000,002 180,000 0 180,000
ORDXIP B422 XA 180,000,002 180,000 0 180,000
03 A& CHY| 9,540 7,740 1,800
OAPDEHEHRIAIL £HRK U AT &
CH| 500,000, 00024%0.72% 3,600 1,800 1,800
NEEEIPCE=NEPS) 5,082,274 3,591,734 1,440,540
TESIEIHES 4,504,171 3,591,734 932,437
ASCARIEE 2,625,968 1,693,531 932,437
701 JIEIEHSRES 2,625,968 1,693,531 932,437
01 JIEEIAESES 2,625,968 1,693,531 932,437
OM+TAIRSESN MBS 2,625,98,0002 2,625,968 1,693,531 932,437
EEES 508, 103 0 508, 103
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H & 0l & At H A M

SA AGHETAIE A
M GlaERe
Rl SIS XIRAID (FZONE SR H) (S &)
- S2(3H) - HIRAIY - HAS 0f| roH J| &M Hlns2
At 7,778,293 6,505,457 1,272,836
= 2,774,000 2,774,000 0
] 1,493,797 1,493,797 0
[ 189,257 189,257 0
= 3,321,239 2,048,403 1,272,836
o] = 6,520,957 6,505,457 15,500
= 2,774,000 2,774,000 0
] 1,493,797 1,493,797 0
[ 189,257 189,257 0
= 2,063,903 2,048,403 15,500
o] A(FRINEHELS 6,520,957 6,505,457 15,500
= 2,774,000 2,774,000 0
] 1,493,797 1,493,797 0
[ 189,257 189,257 0
= 2,063,903 2,048,403 15,500
EHE(ME B4) 934,700 1,143,700 209,000
= 814,000 814,000 0
] 0 209,000 209,000
[ 58,500 58,500 0
= 62,200 62,200 0
L2y 934,700 1,143,700 209,000
= 814,000 814,000 0
] 0 209,000 209,000
[ 58,500 58,500 0
= 62,200 62,200 0
Al&H| 931,335 1,139,582 ~208,247
AEZDBOIXCIA LS EAIS
931,335,000 931,335 1,139,582 ~208,247
= 814,000 814,000 0
] 0 209,000 209,000
[ 58,500 58,500 0
= 58,835 58,082 753
S 3,365 4,118 AT753
S3otHeANESEAIE 20|
934,700,000%*0.86% 3,365 4,118 AT753
SHE(MEBHE-D 209,000 0 209,000
] 209,000 0 209,000
AlEHI L 20 209,000 0 209,000
] 209,000 0 209,000
209,000 0 209,000
2ot AES LAY
209,000,000 209,000 0 209,000
] 209,000 0 209,000
P A (AEXIR) 2,258,757 2,762,757 504,000
= 1,960,000 1,960,000 0
] 0 504,000 504,000
[ 130,757 130,757 0
= 168,000 168,000 0
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SN MBS ARIA
Hu: sl
SH9l: BHEXI R (S BIHLSESIH) (Sl ER)
SN - FE - SR(3]H) - NRAR - BaS il &k p[EL" HimE==1
401 AEBIZ2TH] 2,058,757 2,762,757 504,000
= 1,960,000 1,960,000 0
| 0 504,000 A504,000
= 130,757 130,757 0
2 168,000 168,000 0
01 A&t 2,250,625 2,752,811 A502, 186
OUEXT BBoHHRIAE S
2,250,625,0002 2,250,625 2,752,811 A502, 186
= 1,960,000 1,960,000 0
| 0 504,000 A504,000
= 130,757 130,757 0
2 159,868 158, 054 1,814
03 Al = ChY| 8,132 9,946 A1,814
OUEXI? BBI=HIAL EXIAR 2]
2,258,757 ,00021+0.36% 8,132 9,946 A1,814
SO0l E0ISoE Y| (ARKT-II3) 504,000 0 504,000
| 504,000 0 504,000
401 AI&BIL2TH] 504,000 0 504,000
| 504,000 0 504,000
01 A&t 504,000 0 504,000
OUEXT BBoHHRIAE S
504,000, 0002 504,000 0 504,000
| 504,000 0 504,000
22145 2N 34,500 19,000 165,500
207 ATIHELL| 34,500 19,000 165,500
01 ATBAH] 34,500 9,000 15,500
OUEZ 54T 20U 283 MY 8
5,500, 0002 5,500 0 5,500
OlET ZREIHRIAIL B2Ithay| 2JdE
=X 10,000, 0002 10,000 0 10,000
WS EE(ABI=TAIRA) 1,057,3% 0 1,257,336
FERE(FENASLE) 1,057,3% 0 1,257,336
CEIEL 1,057,3% 0 1,257,336
801 Cilt It 1,057,3% 0 1,257,336
ORI EIE] 1,257,3% 0 1,257,336
OOl 1,057,336, 0002 1,057,3% 0 1,257,336
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